CT0JI0BOH

I'paduk nUTAHKUS B IKOJbHO

MMOHEAEJLHUK
3aBTpak
Bpemsi Kaacce
8.30 3b, 3B, 4b
8.50 2B, 4B
9.00 1A, 1b
9.20 1B, 1I
09.40 3A, 4A, 2A
10.25 2b, 2T, 3T
Oben
Bpemsa Kiacc k
11.25 Bpewmsa nis 0ydera un
JIMYHBIX MPOTAK
12.20 45,4B,5A,56,5B,6I"
13.10 7A,7B, 7T, 4A
I
Bpems Kiacc
14.20 Oben
IMonaauk

16.00 —
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I'padmk NATAHAA B MKOILHGH CTOTOBOH

BTOPHUK-IIATHUIIA
3aBTpaK
Bpemsa Knacc
8.30 35, 3B, 4b
9.00 1A, 15, 2B
9.20 1B, 1I',4B
10.10 3A, 4A, 2A
10.30 256, 21, 31
Oben
B Bpems Knacc
11.15-11.35 Bpems nis Gydera u
JUYHBIX MPOAANK
12.20 45.4B,5A,55,5B,61
13.15 7A,7B, 7T, 4A
N1
Bpems Knacc
14.20 Oo0en
16.00 IoaaHuK




